1000

166,993,965|  138075862|  28018103|[  870,513]

1200 161071,524|  126528873|  34542651|[  870,513]

1250 39,343,693 41,730,298 2386,605[[  583,513]
1252 5,298,248 6,046,666 748,418
100 054,447 1,200,661 246,214
120 054,447 1,200,661 246,214
201 297,511 286,758 10,753

296,081 285,328 10,753|01

> (=228,520)
7,000 * 200
(=930)

90,000 * 7
15,000 * 10 * 2
2,000 * 30 * 4
2,000 * 30 *6

(=36,100)

70,000 * 400

1,400

630
300
240

360

28,000




500,000 * 12 = 6,000
2,100 * 500 * 2 = 2,100
5,000 * 50 *2 = 500

(=17,520)
6,000 * 60 * 12 = 4,320
5,000 * 60 * 12 = 3,600
5,000 * 100 * 12 = 6,000
6,000 * 50 * 12 = 3,600

(=16,190)
2,000 * 1,000 = 2,000
300 * 20,000 = 6,000
100,000 * 16  * 2 = 3,200
500,000 * 5 = 2,500
() 15,000 * 6 () = 90
200 * 2,000 *6 = 2,400
(=5,000)

2,000 * 500 *2 = 2,000




300 * 5,000 *2 = 3,000

(=27,800)
2,000 * 500 = 1,000
600,000 * 3 = 1,800
5,000 * 1,000 = 5,000
500 * 8,000 = 4,000
« . )

500 * 4,000 *2 = 4,000
5,000 * 1,000 = 5,000
500,000 * 5 *2 = 5,000

( )
100,000 * 20 = 2,000

(=10,000)
3,000,000 * 2 = 6,000

4,000 * 500 *2 = 4,000




200,000 * 3 *5 = 3,000

(=6,590)
- 3,000 * 300 = 900
- 6,500 * 250 = 1,625
- 4,500 * 250 = 1,125
- 10,000 * 35 *3 = 1,050
- 210 * 250 * 36 = 1,890

-NGO « )
15,000 * 50 = 750
15,000 * 50 = 750

(=4,090)

- 2,500 * 150 = 375
- 500 * 3,000 = 1,500
- 90,000 * 10 = 900

- 2,500 * 400 = 1,000




-APT

(=315)

15,000 * 16
15,000 * 5
(=300)
15,000 * 16
15,000 * 4
200,000 * 1
15,000 * 22
15,000 * 6
15,000 * 20

350 * 150,000
15,000 * 21

(=420)
15,000 * 20
15,000 * 8

15,000 * 6

240

75

240
60
200

330

90
300
52,500

315

300
120

90




(=6,175)

5,000 * 500

500,000 * 3

15,000 * 27
15,000 * 48
7,000 * 200

30,000 * 100
15,000 * 16
15,000 * 13
15,000 * 40
2,000 * 400

100,000 * 2
15,000 * 10
160 * 3,000

8,000 * 400

2,500 * 200 * 2

2,500

1,500

405
720
1,400
3,000
240
195
600
800
200
150
480

3,200

1,000




- 250,000 * 6 = 1,500
10,000 * 200 = 2,000
- 100,000 * 16 = 1,600
- 2 15,000 * 5 = 75
)

3,000 * 100 *1 = 300
= 20,890

< > (=15,620)
1,000,000 * 12 = 12,000
400 * 500 *4 = 800
35,000 *1 *12 = 420
200,000 * 12 = 2,400

< > (=28,600)

50,000 * 15 *2 = 1,500

50,000 * 8 *3 = 1,200




< > (=600)

< > (=19,750)

< > (=1,200)

50,000 * 30 * 6
50,000 * 9 * 12
50,000 * 10 * 2
50,000 * 6 * 4
50,000 * 6 * 2
50,000 * 5 * 4
50,000 * 10 * 2
150,000 * 2 * 3
150,000 * 1 * 2
50,000 * 40 * 2
50,000 * 15 * 2
150,000 * 4

9,000
5,400
1,000
1,200

600
1,000
1,000

900

300
4,000

1,500

600

19,750




300,000 * 2 = 600
300,000 * 2 = 600
< > (=1,791)

(16 ) = 200
35 ) = 200
35 ) = 200
14,883,000 * 8% = 1,101

1,430 1,430 0|02

(=1,430)
500 * 1,000 = 500
15,000 * 33 = 495
15,000 * 9 = 135
201 15,000 * 20 = 300
202 38,688 40,993 2,305

32,708 32,407 301/01
49,000 * 3 * 4 *1 599
49,900 *3 *2 *10 2994




1,380

1,380

49,900 * 3 * 3

49,900 * 3 * 3

49,900 * 3 * 2
49,900 * 4

49,900 * 4

200,000 * 4

49,900 * 4 * 2
49,900 * 3 * 2
49,900 * 3 * 2
49,900 * 3 * 2
49,900 * 3 * 2

10,000 * 36 * 4

1,797

1,348

899
400

799

1,600

799
599
1,198
1,797
599

17,280

02




115,000 * 1 * 12 = 1,380
4,600 7,206 2,606/03

202 IULA 2,300,000 * 2 = 4,600

203 69,510 66,960 2,550

65,550 63,000 2550/03

25,000,000 * 954 = 23750

10,000,000 * 95} = 9,500

3,000,000 * 95% = 2,850

2,000,000 * 95% = 1,900

3,000,000 * 95% = 2,850

1,000,000 * 95% = 950

1,000,000 * 95% = 950

4,000,000 * 95% = 3,800

1,000,000 * 95% = 950

4,000,000 * 95% = 3,800

2,000,000 * 95% = 1,900

5,000,000 * 95% = 4,750




4,000,000 * 95% = 3,800
2,000,000 * 95% = 1,900
2 2,000,000 * 95% = 1,900
3,960 3,960 0|04
203 (300,000 + 5,000 * 6 ) * 12 = 3,960
301 101,838 106,800 4,962
24,450 23,800 650(00
(=9,600)
10,000 * 80 * 8 = 6,400
5,000 * 40 * 16 = 3,200
2,000 * 3,000 = 6,000
(=4,500)
150,000 * 30 = 4,500
100,000 * 8 = 800
(=850)
150,000 * 3 = 450




77,388

83,000

5,612

100,000 * 4 = 400
150,000 * 4  * 3 1,800

(=900)
300,000 * 1 = 300
100,000 * 6 = 600

11
(=20,000)
5,000,000 *1 = 5,000
3,000,000 * 3 = 9,000
2,000,000 * 3 = 6,000
200,000 * 10 * 2 4,000
(=930)

10,000 * 18 * 1 = 180
50,000 * 15 * 1 = 750
300,000 * 1 * 1 300
49,900 * 30 * 4 = 5,988




NGO

APT

(=3,900)

(=1,800)

(=5,200)

(=2,000)

(=4,700)

200,000 * 30

50,000 * 50

700,000

*
[N

500,000 * 9

50,000 * 16
200,000 * 5

50,000 * 50

300,000 * 4
50,000 * 16

50,000 * 20

1,000,000 * 1

700,000 * 2

6,000

2,500

700

4,500

800
1,000

2,500

1,200
800

1,000

1,000

1,400




500,000 * 3 = 1,500
50,000 * 16 = 800
50,000 * 20 = 1,000
50,000 * 21 = 1,050
(=3,900)

1,000,000 * 1 = 1,000
700,000 * 2 = 1,400
500,000 * 3 = 1,500
120,000 * 1 = 120
50,000 * 40 = 2,000
50,000 * 5 = 250
50,000 * 80 = 4,000

(=7,900)
2,000,000 * 1 = 2,000
1,000,000 * 2 = 2,000
300,000 * 3 = 900
100,000 * 10 = 1,000




20,000 * 100 = 2,000
301 50,000 * 5 = 250
303 20,400 21,450 1,050
50,000 * 20 = 1,000
(=4,500)
(=3,400)
1,000,000 * 1 = 1,000
700,000 * 2 = 1,400
500,000 * 2 = 1,000
(=1,100)
500,000 * 1 = 500
300,000 * 2 = 600
(=3,400)
1,000,000 * 1 = 1,000
700,000 * 2 = 1,400
500,000 * 2 = 1,000

(=7,900)




2,000,000 * 1 2,000

1,500,000 * 1 1,500

1,000,000 * 1 1,000

500,000 * 2 1,000

300,000 * 8 2,400

303 50,000 * 6 * 12 3,600

307 426,500 677,700 251,200

309,500 560,700 251,200/02

100,000

90,000

64,500

20,000

27,000

8,000
117,000 117,000 0|03

> (=117,000)

50,000




307

31,000

36,000

200

4,338,926

4,841,130

502,204

220

4,338,926

4,841,130

502,204

307

1,189,082

1,036,671

152,411

1,189,082

1,036,671

152,411

05

(=456,891)

(=232,191)

(=90,000)

(400 )

500,000

162,681
44,210

250,000

115,191

27,000

20,000

55,000




( ) = 10,000
307 = 5,000
308 2,747,702 1,008159| 1739543
2,747,702 1,008150|  1739,543|01
(=311,202)
185,300 * 220 * 4 * 50% = 81,532
328,100 * 350 * 4 * 5QY = 229,670
20,000
6,000,000 * 16 = 96,000
308 2,320,500
401 200,000 180,000 20,000
200,000 180,000 20,000/01
401 200,000,000 * 1 200,000
403 200,000 2581,000] 2,381,000
200,000 2581,000]  2,381,000(01

(=80,000)




20,000,000 * 1 = 20,000
15,000,000 * 2 = 30,000
10,000,000 * 3 = 30,000
(=120,000)
30,000,000 * 1 ( ) = 30,000
20,000,000 * 2 () = 40,000
403 10,000,000 * 5 () = 50,000
405 2142 35,300 33,158
2,142 35,300 33,158 01
800,000 * 1 = 800
88,000 * 10 = 880
405 77,000 * 6 = 462
400 4,875 4,875 0
420 4,875 4,875 0
4810 4,875 4,875 0
40 4,875 4,875 0|02
420 IULA( )y (3,7509) = 4,875




